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Aufgaben-Quickname: 5921

Aufgabe 1

Setze + oder — ein.
a) 10 + 10 = 20
e) 29 +8 = 37

) 50 — 46 = 4
Aufgabe 2

Setze + oder — ein.
a) 37 +6 =43

d) 56 — 34 = 22
¢) 94 — 77 = 17
i) 68 — 51 = 17
Aufgabe 3

Setze + oder — ein.
a) 19 +2 =21
)10 —7 =3
)21 —16 =5
Aufgabe 4

Setze + oder — ein.

a) 2326 + 2046 = 4372
¢) 9586 — 5976 = 3610
f) 323 — 212 =111

1) 2446 + 1438 = 3884

Viel Erfolg!
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D43 +4 =47  4—2=2  d)46—36=10
N9—6=3  ¢13+6=19 n16—15=1
)38 —21=17

D) 174+5=22  ¢)82+4 =286

)81 —T72=9  f)64—42=22

h)54—32=22  §)18+9=27

D6+2=8 )4+2=6  d)3+3=6
N74+2=9 24-15=9 n5-3=2

i) 27 — 17 = 10

b) 6985 — 5645 = 1340
d) 8298 — 7934 = 364
¢) 1088 — 1035 = 53
i) 2104 + 638 = 2742

Seite 1

¢) 870 4 31 = 901
h) 2518 — 2299 = 219
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